104 # v B h £ %

2E)-

(114

B B 3% 3F

104 FRIEBBLEL ﬁ HE m — ¥ I [ 7 58 B

BB "= e
( !;!:‘ﬁs‘ -
HOE ) ARE g ) *f’%
“pug THE AT ST
wmw
PR
ERE

%% =3 (TWD97)
X:300436 Y:2752773

BEa

[HENIE

150 1000
[E R AR R SRR R R m
3
i
E 8/85 Pk -k 4 ﬁ
i ( R=484mm -~ 1=51mm/h ) =1
& &
3
3
0& o7 o7 08 08
H H H H H
23 11 23 1 23
= 4 =3 3 B
(34 & £ 0 j£% 1(01AGL0) 2 7n & L # & : 500mm)

104 & jkiéb ¥ ¥R -7 2778 -012
SKEMNE  EEEFER—K 330 5%
SKEBLRE 8 H8HSK0Y

S SSEESERY - K

S Z2FERE : 484 mm

kS

=

SR TATEN I

LR ,.F"{QE];\‘HX/EI Ahd BRI

e

o SRS ¢

i»i Tl A '? 0 B g i -
IRtz kT 4

MR SpRaat (6

VB BB R E AR - ARSI
ERENBASR - ENFERDFREMR
K BRI EE—ER 330 SR ZREREM -
REBKHEELRE  SAKERER
EREL - SR ERIRNTE - MOKEEDE -

v IEERR - TREEEEAEL 5,250 FAA
R - #E175 84 10,500 KA AR -
VIGEmET REL1E SBH6E -RE1R

9 A ER R A)

= =4 300 B

Frel R XL 0 k2 RiFR



